1 to answer the question.

E — | L > E > p ) H ) P‘ ) M > T |

93 9 89 63 85 52 9 '8 '
| ;‘3’ - 2. The add1tmns on each side of the balance have the same ansy
R Fill in the missing number.

sl @ [42 + 7] 40 +Ci] (b) 68 + 5}

© [16 +t|- [_+ 11] (@ (5 [5 4 9@
L—A—— 3 _
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.-__,;apniNG THREE 2-BIGIT. NUMBERS

fxample 1: Ayushree read 37 pages of a book on

" W aF % o % % e

— — = ——— - — — "-"""'-"l———lﬂ-'lll-...:..f- LTy e
= -

1 4
O | 2 T O] 3 T O
6 2 8¢ 6 4
A § s i3k
2 | + 4 3 +ANES
b 8 3 ol
O 6. I H2T O 7. AHIAT O]
9 2.9 %4 40
1§ 5 355 el 156
3 + X 3 8 +398 4 |5
3 102 105
0 10. 9qH4r O 1. 4HIT O
g % 2% S 52
2 \é{ 6116 < 7 9
5 + > 4 8 + % 2 5
4] L33 1 56

Saturday, 26 pages on Sunday and the

rest 42 on Monday. How many pages did
the book have in all?

We will get the total number of pages by
adding the number of pages read on the
three days, that is, 37 + 26 + 42 = 105.

—r—
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+
-

12,

S = N W

Working '

7
6
2
5

S e v (e e R /S g e e T i

;__'_'ff' Note: Here, we see that after carrying 1 to the tens place and adding 1 + 3
j;? + 2 + 4, we get 10, where 0 comes in the tens place and 1 in the hundreds
place So addlng blgger 2-digit numbers can result in a 3- dlglt number.
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AnKit have 106 marbles. TR
i 3 =

. )

E
[y g2 There are 18 apples on one tree and 24 apples

e
on the other tree. How many 3PPleS AL er
on both the trees?

Number of apples on the first tree = 13

Number of apples on the second tree = 24

50, the number of apples on both the trees
— 18 + 24 = 42

E o ~ A
xerclse 28 ' AN fw{,-*"«x..,-"‘\‘ N

Solve the following.
1.

Solutiom

Mrs Batrg baked 26 chocolate cakes and
48 vanilla cakes.
M

How many cakes did she

bake altogether? She boke Fi cakes . k‘_ /

_—
“_'H"'—"""\--'-‘-\.,.-—..F'L-"ln_-ﬂ._a--\- T

Mandz scored 28 points in a *ga.me of ludo |
on Satur.day. On_Sunday, SW«:I
more points than on Saturday. How many

Points did she score on Sunday? She 5f5“3«€

4. A hawker sold Wr and

5'{/23%&&9* another customer. How many
eggs did he sell to the two customers? He gel

5. Rachna’s mother bought 24 oranges, Al

l? bananas and 1}\?&@3. How many fruits A2e T
did she buy altogether?

Foido i |.--..J.- _|-' lb"I‘I""'-r- :

| AT atats *] 11
| {40
1

e 3 L 4 | P o
e )

P ,%L._____Jg‘_:_.____;_.{}' f!;i‘ -
s She. bul— 51 5) ﬁ“ﬁg{a;
1 1 1 ' . {1..:‘..#4
6. A.Ilklt had 64 marbles. His friend C,a Jay gave "S- o~
him 27 more. He won 15 marbles in a game. 6le i
How many marbles does he have now?
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e M -
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‘180 C“’_flfk‘q:i M




_@DD'NG 3-DIGIT NUMBERS (W'THOUT CARRYING)
et us add 125 and 224.

We can add the given numbers in the following ways:

' smg the ExPanded Form Using the Short Method
= fC | Arrange the numbers one below the
125 ohe other according to their place values
| 1 EDE and add columnwise.
= + J HTO|
. 18 2le5
el +212 4
k o)l Blal
100 + 207 + !5 g g ~ Adding the ones.
|+ 82000 205 A ! -Adding the tens.
300) + (40) + (9) e s Addmgthe hundreds.
W30 LT LGl A ANAAAAANAANANDAANANANANANN R
1. Do the following sums using expanded form.
(a) M 4. gt SO0 TR 0 8
el 05 5 =300 RS0 1
599 (500 + (A0 + O\_)—QSC\CD
(b) 6 4 4 = 600 40 + 4
PPN By G
394 F (800)+(20)+(F )=(89Y
R RVELE = 500 + 40 +
L83 5 = B0 S o 0

1
3 L
B & 5.?‘300J+{°\0}+f4 \z‘[%qq
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~ Carryi _g from ones to tens
- Let us add 437 and 328.

Method 1: Using the Expanded Form
We write the numbers in expanded form and then add as follows:

 ADDING 3-DIGIT NUMBERS (WITH CARRYING)

(d H T
e 1.

+4 6 0
CEL |

(h) HT O
2 ‘.*.4

+ 3 IF'E:

=
3
3 3
Bl
k) H T O
64 2 158
+2d 41
- 86 F
(o) H T O
31018
+6 7 _‘;
ikdl

Writing 15 as
[ * I
=700 + 50 + (10 + 5)

400 + 30 + 7
300 + 20 + 8

700 + 50 + 15 —

700 + (50 + 10) + 5
700 + 60“+ 5 = 765




ethod 2: Using the Short Form

Arrange the numbers one below the other according to place value and
add columnwise.

Step 1: Add the ones.
7+8-15-1ten5rme’9

Write 5 under the ones column and
carry 1 ten to the tens column.

Step 2: Add the tens.
1 (carried over) + 3 + 2 = 6.
Write 6 under the tens column.

Step 3: Add the hundreds.
% 4+3=7
Write 7 under the hundreds column.

1 EKGI'CiSQ QD AV N e Ve e e e U a U a a Wa a N e e e e e P L P PN fﬁi F
Add'

L. IH AT ()'{ 2 SMHAT O 4
X | 1 :
6 4 8| 5 4 6 |
+H554 19| ol 8]
- Ll 864




Carrying from ones to tens and from tens to hundreds

Example 3: Add 467 and 398.

Solution:  Method 1: Using the Expanded Form (Writing 156'. -

We can add the numbers as follows.

v ;L .

| ]
4 6 7 =400+ 60 + 7 >= 700 + (100 + 50) + (10 + 9
300 + 90 + 8 = (700 + 100) + (50 + 10) + &

+3 9 8

800/+ 60

7008 -ERISOREERT S =

865

5
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< 550\_
=~ = L)
-~
+
-
© O oo | _U._ 932”
- 1360w T_‘.I_Z?OW
- ¢ X m
= S = <~ g7 L v ®©° g
= S <. +
E S -
"
= S3
: :
b~ o Jrovora— - N —
m ..M @ ~ o O O N O\ |
= M =~ o o O = v o )
..m S T~ F = s a0
.e o~ + +
S 8 |
; O o \O
o :
m 80
: : A
M ..Hm @) A O IO @) A\ o0
v € H ~ v~ m ~ ~ < —~CQO
) _ -
M = H_134H_3 T O o
1 asl + +
< ~= .
A — L

10.

N N (O
~}© o
= Em

H T O]




HTO
15" 1
41 6 3|
1§ 4 7\
+*26!
g 3.6 |
| |
11 g | 1 4 11
24°9 6 431; 58 5! 3 g4 1 "/
4 0 1 0} 2| o 16 1 2 4
+928 53 5 +3. 3 9 | 1N 3¢ N +3 6 2
132 Q22 700 q03

" WORD PROBLEMS

Example 5: An exhibition at the Science museum was watched by
248 boys and 364 girls on Sunday. How many students
watched the exhibition in all on Sunday?

5 | | Solution:  To find the total number of students who watched the
5 | 1 exhibition, we add 248 and 364.

.
3 " Working )

HT O]

O | 5 15

‘ 284 8
L | +3 6 4
s 6 1 2
O I 'l




Solve the following problems.

1. There are 485 boys and 343 gigls 11
a school. How many students are
there a.ltogether in the school?

Tﬁem‘_ﬂag_&ﬂgzg skuclan‘\'& \N

2. Pranav used 324 tiles to cover the

floor of one bathroom and 276 tiles
to cover the floor of the second

bedroom. How many tiles did he
???alwer? -_'IE\.&I?,, axe 60O 'l:'a\ES CL\.{'nj E},t\ﬁﬁ @@

T N e

AR
3. Rehan bqught a_book for 3275 and o &Qﬁg){. SO ; o 3 15 |
some stationery items for 7425 from Dy ost of 1128
=51
I

a bookshop. How much did he pay
to the shogkeep'er?H e Py & 100 o
Shopkeeper
4. After selling 480 pieces of fruits, a
fruit seller had 132 apples and 89
bananas left. How many fruits did
he have at first?

He hove F01 {’ﬁu'z')fs ot -fi

5. The money collected from the
school winter carnival goes to an
orphanage. For the carnival, three
girls made quite a lot of effort and
Preeti sold 338 tickets, Kavita sold

-~ I__.i”""-—..-l"‘”=I

175 tickets and Arpita sold 245
tickets. How many tickets did the

thrée girls sell altogether? What

moral value is shown by the girls?

[Value Based Question] | | W,
ﬂ\‘ﬁéf, 3;]’.‘3 aell 1586 -‘;IULQT:Sa ﬂ\h}&{?uﬂur

s he S\NJUL\J‘ hg,'af} T\E,f’.ﬁ\ﬁ PQ.-GP‘P_,
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Add:

HTO| ® HTO|] @ HTO| W HTO
28 4. 85 SH 1 B2 Iy 8 SON| IS O
R 3T | +HI§ 2" 14 +iE N 01 '2 6
6 76 =30 ol 9 3 6+ 9
2. Solve the é}llowing. @

@ HTO (b) ClI)l q) Of () H @ O (d) @ O
§58 481 48 7 157 W 78 2 9 8
w121 3 |4 a2 15 +1 8 2 2 3 A

R SgR Bicle] Bl §=28
MCQs ,
Tick (v) the correct answer.
3, 200 more than 756 is
(a) 556 (b) 856 gy 956 (d) 456
4. What is the sum of the greatest and smallest numbers?
) 207 ¢ 165 (  Je48(  J738(
(a) 855 (b) 945 (s} 903 (d) 813
5. 4 hundreds 2 tens 7 ones + 2 hundreds 9 ones = 6 hundreds
tens 6 ones.
(a) 2 (by” 3 (c) 4 | (d) 6 \ |
6. is 10 tens more than the sum of 145 and 55. ’L{_‘E:_
\@Y” 300 (b) 210 (c) 310 (@), 2001 =
9 & O
7. 440 +90 = e ol
(a) 53 ones (b) 53 hundreds (c) 530 tens (&Y~ 53 tens -\*_"_f'_ﬁ-
8. The missing digit in the given sum is HTO.! 2 = 3ee
(a) 9 o 7 i 2 3
+ |
(c) 6 (d) 5 8 0 0
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Jow and 322 tickeyg .

morning s|
all?

9. A movj |
B for the .
‘ theatre SEHS 278 tld(EtS d it SC“ mn

the afternoon show. How many tickets di
@) 598 (b) 700

10. In the month of December, Jai saved <32
more than him. How much did Mansi save?

(a) 701 O 3513 (c) 3838
d 7 hund I
1. Which of the following has a sum between @%reds an @ds? b
p
@ mTol ® HTO} © T Ol
ot Bl + el 47 8 i’ 2 4
+2E 2 3l Il 1" 5 12 2 +€é7
586? B9g ®oo !
2. Which of the followmg makes the given statement true?
185 + 38 + 62 ) 75 + 55 + 59
U’{ < (b) > () = (d) Noneofth

-----------------------
-----------------------------------------------------------------------------------------------------------

™ Quick Review
Fill in the blanks.
1. 400 + 30 + 8 = ) 43Q {(Standard form)

2. 635 3 < ¢ 660 (Write <, > or =)

'-.-.--—\__ e .—r—l-—-'

3. The number name of the number shown by the abacus given

1S DCI :’;:#T FIVC ﬁkl‘ﬁﬁ,\\ad

it

""n

J‘L"I

......

4.

In the sum of 217 and 183, the digit at the tens place is )

5. The set of numbers 799, 675, 692, 898 in descendmg order iS

IP'.'l--.

'

b g
i

. | I

u-J

ggg?ﬁ‘:?uwiiﬁ o
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worksheet

.......—--"""-

" 1. A palindrome is a word or phrase that reads the same forward and
backward.

Example: MOM
Read forward: MOM Read backward: MOM

Some numbers are palindrome too.
Example: 808

Read forward: 808 Read backward: 808
We can find the palindrome of a given number. Study the following example.

xample: Start with any 3-digit APAPRAPALPRLAPL AL

number, say 162.
Reverse it, you get: 261 Note: Continue |
" Add: 162 + 261 = 423 reversing and adding *

- ( \ )
Reverse the sum: 324 | unt}l you get a
' palindrome.

Add: 423 + 324 = 747, which is
“a palindrome. '

e e =

T . _
— . i ———

e —— T © m e W m e mm m s e e e e w me s w ¢ m o m R ——

Use the method given above to find a palindrome using the following
numbers. B CEe

( (a) 153 | (b) 432
a0
2. Use the ligi_.ts given below in each of the following to complete the

addition problem.
G




